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(7F Rk p.35)
6] [ eBE & 8 Dfieds-6 ITHYMEL ’ P3N\

MHAEEIE, ¥(0) = (14.7, 36.75)[m/s]

& 7(0) = (0, 19.6)[m]
FIEFAEXEZILTHEALTHES - ()~Q)
(1) AL HEIZZET HETHORM ¢, [s]1E7?
2) A[m]EITETTSH? x(t) [m]

Q) HEITETHIERIDRIIE?  v(ty) [m/s]
4) ZEMEICTEL-BREO 4
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[4] R51%E8-6 (THF Rk p.35)

MEOEEENET b,
- WMKICEIKH F = (0.0, —mg) = (0.0, —9.8m)[N]
BEAREX ma =F= ma = (0.0,-9.8m)[N]

. (0.0 —9.8m
na = ( ) [kg] = (0.0,—-9.8)[m/s?]

)
m




[4] [H%E8-6 (FF Rk p.35)

@) =(00,-98)[m/s*] EWHT 5.
BE v,(0) = fax(t)dt = J 0.0dt = A,

vy, (t) = fay(t)dt = f(—9.8)dt = —9.8t +Z;
SV (t) = (A, —9.8t + A))[m/s]

(7)) &Y v, (0) = A, FEAEH v, (0) = 14.7 [m/s]
—HIHIIITRDEHE A, =147 [m/s]
(&Y v,(0) = 4, WEIEHE: v,(0) = 36.75 [m/s]
B BRLSICROBE A, = 3675 [ms)
() = (147, —9.8t + 36.75 )[m/s]

(*7)




[4] [S=E8-7 (FF Rk p.35)

--------------------------------------------------------------------------------------------------------------------------------------------------------------------
[l

v(t) = (14.7, —9.8t + 36.75) [m/s] ZHEHT .
L& x(t) = va(t)dt = f 14.7dt = 14.7t + B,

y(t) = jvy(t)dt = f(—9.8t + 36.75)dt
= —4.9t* + 36.75t + B,

. F(t) = (147t + B, —4.9t% + 36.75t + B,)[m]
(T)&Y x(0) = B, #EIZA:x(0) = 0.0 [m]

. —HILHLIICRDSBE B, = 0.0 [m]
(T)&Y y(0) =B, #HAZEH: y(0) = 19.6 [m]
 —HTBL3ITROBE B, = 19.6 [m]
() = (14.7t,—4.9t% + 36.75t + 19.6)[m]




[4] [S=E8-7 (FF Rk p.35)

() RARESET DETOERE ¢, [s] 1£7

- y(ty) = —4.9t,%2 +36.75t; + 19.6 = 0
(2t; +1)(t; —8)=0 ..t; =8,—0.5[s] t; >0 kY
ty = 8 [s]

(2) A[m]EITETTSH? x(ty) [m]
- x(ty) =14.7 x 8 [m] = 117.6 [m]
Q) HEAISEI HERORSIE?  v(ty) [m/s]
. U(ty) = (14.7,-9.8 X 8 + 36.75)[m/s]
= (14.7, —41.65)[m/s]

v(ty) = /14.7%2 + (—41.65)2 [m/s] = 44.2 [m/s]
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[3] H%E6-8 (THRk p.27)
(1) AQEBHER: 2.0[kg] X ap, = 50[N] 7 -+-@
: BOEERN A EIN: 3.0[kg] X ag, =T -2
ALBDILEEIEFELLY, TORESE a £T 5,
.@v
@

ADEFHHFEX: 2.0[kg] X a =50[N] - T
BDEEIAFER: 3.0kg] xa=T
@+2° (2.0[kg] +3.0[kg] ) X a = 50[N]
Coa = 10[m/s?]

Q) IZTHALT, T =3.0[kg] x 10[m/s?] =30 [N]
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(THFXbE p.Zm

[2] FREEE 6 DRERE6-7 ITHRYMEL,

5.0[kg|DYIMAZET = 20[N]D 7 TE|28E>T=,
MZERE a, = 3.0[m/s?] THRE,

Ev, (0)[&7?

() BBADKESS (X7 EFHAERZFILITS,
(2) 3.0[s]EIDFEENIEE Ax [m](E? MEENMNSTEST S,
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[2] [S=E6-7 (THRk p.27)

(DEFHHFFEK: 5.0[kg] x 3.0[m/s?] = 20[N] —
“.f" = 20[N] — 5.0 x 3.0[N] = 5.0[N]
= (2) ay = 3.0[m/s7]

vx(t) = jax(t)dt =f3.o dt =3t+C¢; =D

MEIEHEY,(0) = 0 [m/s] D&LY v, (0) =C; .. C; = 0 [m/s]
. ou(t) = 3t[m/s]
x(t) = va(t)dt = f 3tdt = ;tz +Cy (D

DNEAEMH x(0) = 0 [m] @&KY x(0) = C, .- C, = 0 [m]

Cox(t) = (3/2)t?[m]
Ax = x(3.0) = (3/2) x 3.0°[m] = 13.5 [m]
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[1] HEEE 6 DRERE6-1 ITHIRYMELT,

EHAEXNLYILEE a, = 0 [m/s?] .
R E v, (0) = 2.0[m/s], (
(Dv,(t) [X?
(2) 5.0[s]FEl DFZBNEERE Ax [m]lL ?
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[1] FElzE6-1 (TF Ak p.26)

- (Dag(®) =0[m/s?] %HEEEE v, (t) = 2.0[m/s]

AlfEELT

v, (t) = jax(t)c‘_t = j 0dt =C; [m] ---@)

AR, (0) = 2.0 [m/s] D&Y 1,(0) = €; - €y = 2.0 [m/s]
() = 2.0[ms]

2) EEEEFHNLZDT Ax = v, - At = 2 X 5.0 [m] = 10 [m]
- RIfRELT
x(t) = jvx(t)dt = j 20dt =2t +C, [m] =--@
EASEHE x(0) = 0 [m] @&KY x(0) = C, .- C, = 0 [m]

Sox(t) = 2t [m]
Ax = x(5.0) = 2 X 5.0 [m] = 10 [m]
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